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I o Watch Video Solution
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Answer: B

o Watch Video Solution
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Answer: D

o Watch Video Solution
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A —1
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Answer: D

o Watch Video Solution
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sin(co’c_1 a:) = ...
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A (1 + :132)
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1
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D. (1 + .’L’z)

Answer: D

o Watch Video Solution
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D.19

Answer: A
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Answer: B

o Watch Video Solution
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re|[—5 —2,diz=.... .

A.O
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Answer: C

o Watch Video Solution
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D. AB

Answer: C

o Watch Video Solution
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Answer: D

o Watch Video Solution
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Answer: A
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det |1 —4 -1 w2 =1 =............
-1 —14+w-—1 —1
A. O
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Answer: A
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— Jtan ! asinz + c?sw =...0<tanz < (£>
dx acosx — bsinzx b

Al



https://dl.doubtnut.com/l/_MLMyoMqS04Ay
https://dl.doubtnut.com/l/_Rv9pBx5HT4Kr

Answer: A
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Answer: D

o Watch Video Solution
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% [log \/sin \/e_”"] = e

z
2
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.Ze

B. (e% cot (e%)

C. (e” cot(e®)

Answer: A

o Watch Video Solution
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~
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Answer: C
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Answer: C
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Answer: C

o Watch Video Solution
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Answer: A

o Watch Video Solution
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/(ac D da:- ......

Al x—1)2 C
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m—l
c.1 RVl C
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Answer: B

o Watch Video Solution
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Answer: A

o Watch Video Solution
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cos® x
5 de..... +c¢
sin“x + sinax

A.tan '(sinz)

B.log|sinz| — sinz

C.tan ! T
1+ sinx


https://dl.doubtnut.com/l/_ZFkOxG9h1fIY
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D.log|1 + sin® z| + cos z

Answer: B

o Watch Video Solution
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/(logzc + (%))e‘”dw Y

(1ogx + i)

. (102 + ()
cofoer- (3)
(oo (1)

Answer: D

o Watch Video Solution
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X
Ff(z) = / tsintdt . f'(z) =
0
A.cosx + zsinx
B.zsinx
C.zcosx

D.sinx + x cosx

Answer: B

° Watch Video Solution
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Answer: B

o Watch Video Solution
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107
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Answer: D
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oooooooo

A. e

D. e"(x) y=C'

Answer: A
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p) y A N\ d
S = e(VHe!) + o 00 E;J,Eﬂ)éluaz > 0dl (_y) _

T

1—=x

Wi


https://dl.doubtnut.com/l/_2RygxHoKHivt
https://dl.doubtnut.com/l/_9d9Vt5aMprAn

Answer: A

o Watch Video Solution
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A d 2o AMERl S1 Aol dof Hiot 'a' 1 a1 ) 2Joddi? 2A[ERl 13,

dl A ofl s [Byd WIS A @ AsH ailEel 2.

Al=1

BA= —1

C.a = Al
1

A
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Answer: D

o Watch Video Solution
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AT = ai+4j+ 20k § = 2ai — j + ak URUR Ul S

B.1
C. 4

D. Sig Yl dixdlds 2ic|

Answer: B

o Watch Video Solution
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A(4,-2),B(5,2) Adl C (1,4) &), dI m/A = ...

Answer: A
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%

hY % Y N
s 7(:10‘1)‘:22»1017. b =128, |d

A. 12



https://dl.doubtnut.com/l/_0GB6Z7Oq6e81
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B.14

C.16

D.18

Answer: C

o Watch Video Solution

40. 95l y =22+ 2, y==x, ¢ = 0 Vol £ = 3 U5 AHIYd Y&elqj

gixs0 2114l

o Watch Video Solution
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m?‘:?,,b’:mw ?‘:4ela,7+b+?:0= .....
P
SUdid.b+b.¢c =
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C. 25

D. A Hiall 24s Y| ol

Answer: B

o Watch Video Solution
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AHdd. £ = 2 ol H[dU...... ©

A

— =
. J + k

- =
B.2¢ +2k
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Answer: C

o Watch Video Solution
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[Gig P(4,53). ol 3ul 7 = (5, —2,6) + k(3, —4,5),k € R o
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5

8 V457
. —5\/5
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A.
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Answer: A
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44. oildell Gigfdseu Yslioll BUIG HI2 A1 [dsey uRie 52 .

z

AHdE 22 + 2y — 2+ 1 =0 ol z +y — (2

) +2 =0 aiq

AWBdR ... ©.

A. /5
B.2

C.4/2

D.1

Answer: D

o Watch Video Solution
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sig yel HYleRAIell AuHdI eldell Idl 21y GSdall UgLlall

\ \ AN

[2IRfUigA] (0,10),(5,5),(15,5),(0,20) © HRI S, ©: HRI 5, z = pr + qy
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Ui, p, g > 0. ofl. HedH [SHd (15,15) el (0,20) Uil APIO HA d

pAal q 4] Jjuiy

Ap=q
B.p = 2¢q
Cg=2p
D.q=3p
Answer: D

o Watch Video Solution
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AMd 21y GSEoll Yerlall [RIRAMALAI A(3,3),B(4,5),C(-2,4),D(4,3).

z = 2z + 3y oil YaidH [SHd..... 2N,

A 23


https://dl.doubtnut.com/l/_iSTSS2UbGWYW
https://dl.doubtnut.com/l/_DquHaFkZNO3H

B.8

C.—3
D.—1
Answer: D

o Watch Video Solution

47. oildol| Gig[ASEU Yslloll FAICH HI2 AT [ASEY uie S .

BiMdIRA z < y Vo y < z + 3 ofl AHIAY ..... ARIHI SR ©.

o Watch Video Solution

48. oiloll Gig[AsEU Usiioll FUIG! HI2 AR [dSEU URiE SR .

i AH o B sig ye Y 8SaiIA]

A\ N\

P(A) + P(B) — P(A and B) = P(A)¢lRdl

HI2


https://dl.doubtnut.com/l/_DquHaFkZNO3H
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B
wp(B) =1
ap(é.:zl

B

B
D.P(i =0

B

Answer: B

o Watch Video Solution
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QA a a . 4 N\ .
[derell ddlRl of ¢y deil Riciigail (g)” 5 [duiilRAmiel 4

[Gai2ileA) d=dal 1 defl i Idall...... €.

A(%)i
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C. _5Cy (%)
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40

Answer: B

o Watch Video Solution

50. oilJoil Gig[ASEU Uslioll BAIGH HI2 AR [ASEY URie 52 .

s YIERES Ud X ol HEAS Aal YHI[CId (ARGl HolsH E(X) = 5

3)V(3z — 2z) = ...

A. (1) 34,(2) 280, (3) 117
B. (1) 34,(2) 370, (3) 81

C.(1) 34,(2) 370, (3) 36
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D. (1) 34, (2) 250, (3) 81

Answer: A

o Watch Video Solution

51. oilail ANG 1 20l 8 Yeilall Usiotloll 21R1d3] 53] S5Hi YU A1
(€25 YZYolall 22[0] €. )

N s
Gsdi:tan '2z + tan '3z = 1

o Watch Video Solution

52. oildiell 2A1Udl 1 &l 8 eilotl Ustotloll 21213 53] SsHi B A1l

(€25 YYolall 2 2[R . )

PAEEEN ~\ d.’E AN
= a3 ¢RI dl. | — | 2lldl.
dy

w |
w |

s,z +y

o Watch Video Solution
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53. oildell 2414dl 1 &l 8 eilotl Usiotloll 211d3] 3 gsHi B A1l
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A

1 . -1 2«’13 . . b A A
sin ™| = dx 2is(Adoj He 12101l 2d Hadl.
0 xr

o Watch Video Solution

54. oiloll AN 1 20l 8 Ytilell USiatlof] 2113 53] SSHI BV A1l
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HIUA dS Vel Uil dS A1]d YeRle] eirism 214,

y = z?, x=1, x=5" Aol X-218f
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AIlGid 5 S dsly? = 4z el 22 = 4y A MIRAI 2 = 0, y=0,y = 4
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AHdE 2z 4 3y — z = 5 oll AHlGidUa (€5 SiRAIa el AHdEa]

GoM[Viga] idR Hundl.

o Watch Video Solution

59. oflJ AN &l ytiloll Ugioticll 2121d3] 53 E5Hi BUIG A1UL.
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° Watch Video Solution
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